--QObserva

37 X 102 » 37 X 100 + 37 X 2 = 370 + 74 = 444

@ Resol les operacions seguents.

18 X 101 = 1.818 28 X 102 = _2.856 42 X 103 = _4.326
62 x 102 = _6.324 55 X 101 = _5.555 21 X 102 = _2.142
14 X 102 = _1428 26 X 103 = _2.678 24 X 103 = _2.472
12 X 201 = 2412 25 X 3083 = _7575 40 x 202 = _8.080

@ Escriu el terme que falta en cada cas.

11 x101=1.111 | _44 x101=4.444 | _33 x101=3333
22 x101=2222 | 22 x202=4444 | 6 X 101=6.666
11 x203=2233 | _22 X203=4466 | _34 X 203 = 6.902

@ Completa les taules.

S
- D
1 2 [ 204 |
20 2.040 30 3.090
22 2.244 33 | |3-399
10 1.010 4 408 6 618
100 10.100 40 4.080 60 6.180
110 11.110 44 4488 | 66 6.798

@ Completa la série.
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